
PRODUCT INFORMATION PACKET

Model No: 168016.61
Catalog No: 168016.61

 GREASE FITTING  M8 X 1/GREASE FITTING  M8 X 1

Regal and Leeson are trademarks of Regal Rexnord Corporation or one of its affiliated companies.
©2023 Regal Rexnord Corporation, All Rights Reserved. MC017097E

1 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 41 of 4



Product Information Packet: Model No: 168016.61, Catalog No:168016.61  GREASE FITTING  M8 X 1/GREASE FITTING  M8 X 1

Nameplate Specifications

Technical Specifications

Outline Drawing 16801661

This is an uncontrolled document once printed or downloaded and is subject to change without notice. Date Created:11/29/2023

2 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 42 of 4



7/6/2007 7:48:50 AM -

3 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 43 of 4



ERROR: syntaxerror
OFFENDING COMMAND: --nostringval--

STACK:

0 
/im 
-savelevel- 

4 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 44 of 4


